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The Side Stake Control Measure Method in the Highway Construction
CUI Jun - ying

The Highway Management Bureau of Haimen City Haimen China 226100
Key words In the construction of the highway project the highway line is generally controlled by the middle stakes and the width of highway
is measured with a steel ruler from the middle stakes to both sides. Because the line is controlled by persons errors are easily produced in the
vertical direction causing errors of the highway line and width. The middle stakes are destroyed by equipment during the construction caus-
ing repeated measures and increasing work amount. So it is necessary to adopt the side stake control method and calculation formula and loft-
ing method. The practical uses prove that using such methods have the advantages of fast measure with high accuracy and improvement of work
efficiency. They are suitable for measure in the construction of high — class highways.

Key words Highway line Side Stakes Datum point Measure Coordinate



